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H H IR B ET== i
. oS Hizox 150 150
TR (B — Hio= 340 340
. - a3 Hizox 150 150
S TR (=) — 1% Hio= 340 340
s a3 1H#F'ﬁ£ 4,750 4,750
BEF= — 1B 10,460 10,460
BB A2 F D a3 1ERIC D 2,400 2,400
— & 1ERIC D 5,230 5,230
S BEELM 1ERIC D 31,360 31,360
A4 YRRV FDH 1ERIC D 15,680 15,680
o . =l EEABRDI120A5 (BIK61,750M)
A5 RHEUN YT AR —f% BEEABHOI50A% (R{E133,390M)
7T RR—="2 LI BB ABED300A% (BI£400,150)
N B ET 1ER I 1,000 1,000
— & 1ER I 2,200 2,200
. B ET 1ERIC D 200 200
— & 1ERIC D 440 440
45D 1EAT 1R 5,280 5,550
_— 2501 EAT 1ERIC D 8,800 9,240
Ey=V9] 1ERIC D 15,740 16,530
RBENAT 1ERIC D 2,200 2,310
KAV B A 1ERIC D 7,580 7,960
RABRREEB 1ERIC D 4,620 4,860
BARESE 1ERIC D 1,660 1,750
BEHYELRE 1ERICD 1,050 1,110
EXS 5T 1ERIC D 2,250 2,250
£EEA (102~109) 1R 560 590
£%%B (113.114) 1ERIC D 440 470
BeLEERIS |2EEC (201.206) 1ERIC D 440 470
£3%%D (202~205) 1R 610 650
£3%F (MR1.4) 1ERIC D 490 520
£3%=F (MR2.3) 1ERIC D 390 410
B—AREBE (SER) 1R 440 470
EAEE (BEE) 1R 560 590
MERBEZLREE 1R 940 990
A E 1ERIC D 220 240
BREAB 1SR 660 700
-t rigE= 1R 330 350
PEEAB 1RS> 110 120
a4 >vayh— 1[E]Z 50 50
Belbgsg 1H%F'Em:o 710 710
RMEIEEYE Bk YT — =) 100 100
a4 >vayh— 1EZ> 50 50
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H BE==A i S B A
— SRELT 1R & 410 410
— % 1BEERIC D & 900 900
V7R BIRELT 1BAIC D & 360 360
— % 1BEERIC D & 780 780
AB> = 24— I SRELT 1R & 230 230
— % 1BEERIC D & 500 500
D> =2 L SRELT 1R & 230 230
— % 1BEERIC D = 500 500
bt SRELT 1R & 510 510
— % 1BEERIC D & 1,120 1,120
Yy h—15 SRELT 1R & 360 360
S —1% — % 1BEERIC D & 780 780
P —— SRELT 1R & 280 280
— % 1BEERIC D & 620 620
5 B BEC SRELT 1R & 360 360
— % 1BEERIC D & 780 780
= SRELT 1R & 130 130
— % 1BEERIC D & 280 280
- SRELT 1R & 130 130
— % 1BEERIC D & 280 280
. SRELT 1R & 100 110
— % 1BEERIC D & 220 240
NETo by SRELT 1R & 210 230
— % 1BEERIC D & 450 480
K2y ke SRELT 1R & 560 590
— % 1BEERIC D & 1,230 1,300
i SRELT 1R & 560 590
P NL— — % 1BEERIC D & 1,230 1,300
R— v SRAELT 1BERIIC > = 410 440
— % 1BEERIC D & 900 950
e SRELT 1R & 560 590
Z Do — % 1BEERIC D = 1,230 1,300
2=y v SRELT 1R & 410 440
— % 1BEERIC D = 900 950
2ot SRELT 1R & 850 900
— % 1BEERIC D = 1,850 1,950
. SRELT 1R & 210 210
—— — % 1BEERIC D & 470 470
2ot SRELT 1R & 1,260 1,260
— % 1BEERIC D = 2,790 2,790




V7 hR—IL 302D & 1,100 1,160

FZRXRa—hk 307 ICD & 340 360

L B IKG 307IC D& 3,300 3,470
A9 5388 -

51815 307 IC D& 110 120

e 7y hH 302D & 240 260

Z oM 307 IC D& 1,420 1,500

REBE 1IBREIC D& 450 480

mKY v T — 1Ec> = 100 100

a4 Ay h— 1Az > = 50 50

DEBE 1RFEIcD & 290 310

INRRE 1RFRICD & 110 120

B—kEm  |PHEE 1RFEIc D& 160 170

BT ¥ T — 1EIc2 & 100 100

J4>ayh— 1mEc> & 50 50

mEmE ERELT _ 100 100

—g - 2T LA 220 220
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i} R b= i
A
— a2 1R ICD 410 410
FZZXa— — % 1R ICD 890 890
A
k — 4 1BRICD 760 780
— % 1R ICD 1,670 1,710
h 18 1 1
rega | | a2 FRICD 610 610
R A N — % 1BRICD 1,340 1,340
TART, oy 1B I- > 1,150 1,180
“/ R4 * ’ '
— % 1BRICD 2,500 2,560
o a2 1R ICD 4,750 4,750
— % 1BRICD 10,430 10,430
Tof = 1R ICD 1,200 1,200
1/4% il ’ '
— % 1BRICD 2,620 2,620
% 18RI 31,310 31,310
TRF 2T AR—Y LA =0 kil
1/47H 1H%F'ﬂt 7,830 7,830
, FHE BEABRDI0NS (BR{E61,750F)
TRFa1T7RAR—"
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TRF 1T RR—=yLIIN BEBABRO100A% (F1£399,720/)
N 1/4E 54T 1R ICD 1,680 1,770
RERH |
e aLT 1BRICD 6,710 7,050
KREIBREREE B 1R ICD 4,560 4,790
BRRERE 1BRICD 1,320 1,390
SEE 1R ICD 390 410
INEHRE 1BRICD 160 170
F—EE (ML L) 1B IICD 710 750
BIHMEE (REPH) 1H%F'ﬂt 490 520
a4 voyh— 1@z 50 50
7~9 13,070 14,380
T —ILERER - i
=GIEON 10,110 11,130
INFELTF 2D X 70 80
. —MEA | ERE 2EFRIC D = 100 110
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(fg;?‘ INSAE DU 11E% 700 800
[ |- B8E 11E %> 1,000 1,100
KA 11E %> 2,200 2,500
INBE DT 2EFRIC D = 150 170
—MEA | ERE 28R D 200 220
7= KA 2B Ic D = 400 440
eSS INGFAE BT 11[E% 1,500 1,700
[ |- B8E 11E %> 2,000 2,200
KA 11E %> 4,000 4,400
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E B pN==A i HrEAM
__ UN 1R ICD 1,030 1,090
T —
SRELT  [1EREICD 465 490
N kA f}i 1B ICD 1,410 1,490
. SRAEMT  |1EREICD 640 630
KEEBE
. . UN 1B ICD 1,030 1,090
N —R—Jb ——
SRAEMT  |1EREICD 465 490
- AUN 1R ICD 510 540
NEIV Y ——
SRAEMT  |1EREICD 235 250
1
N kA f}i EERIIC 1,410 1,490
SRAEMT  |1EREICD 640 630
1h 1,030 1,090
BEE KL R A Sl ' '
SRAEMT  |1EREICD 465 490
- AUN 1R ICD 510 540
NI Y ——
SRAEMT  |1EREICD 235 250
— % fE . . 1REFRETIC 890 940
K257 A i
SREUT |1EMIC-> 410 440
L2y f/\ 1R ICD 890 940
SREUT |1EMIZ-> 410 440
1HEFRS IS 890 940
IMEBE |7z s f}i il
SREUT |1EMIZ-> 410 440
. UN 1R ICD 300 320
B3R ——
SRAEMT  |1EREICD 135 150
UN 1R ICD 180 190
Z Dt — 5
SRAEMT  |1EREICD 85 90
2ERER 1R ICD 3,010 3,170
DEE (2/3(E8 1R ICD 2,010 2,120
1/3fEH 1R ICD 1,010 1,070
= 1E¢F‘EJL 670 710
a4 voyh— 1|z 50 50
B FIXF 1T RAE—Y 1R ICD 2,420 2,550
B
TYF 2T RE—Y LU 1R ICD 10,120 10,630
i FIXF 1T RAE—Y 1R ICD 1,910 2,010
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S 2= (1~98) 1R ICD 2,690 2,960
Z DB ZEE 1R ICD 3,410 3,760
EN=Vd]| 1R IC D 3,740 3,930
KB = il
1/2547 1B ICD 1,980 2,080
BREH _ . |EEE 1R ICD 1,320 1,390
FRRAEL 1R
E=Vd| 1R ICD 1,320 1,390
7= 1/2 547 1R ICD 660 700
1/3:547 1B ICD 440 470
KAEBEESERE 1R ICD 11,000 12,100
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T KA 2EFEIC D & 390 410
L BREAEMT 2BRIC o E 175 190
—_— KA 1134 3,860 4,100
BREEMT 11@63\ 1,750 1,900
HEEa— [ kA 1[@Ec 680 720
2| EBREUT 1EIC> 310 330
R [ KA 1= 890 940
- -2 |BREUT 1= 405 430
s EEa— | kA 1= 1,540 1,620
2| EBREUT 1= 700 740
BEREm [ KA 1= 1,980 2,080
-2 |EREUT 1EIC> 900 950

HEEsER (20 A L) eI 1E%5 x A%< 0.9
INFAE BT 2BRIIC o E 90 100
LGS e BRAE 2EEMIC O & 130 150
] KA 2BRIC o E 290 320
_2_7%;;\ INFELT 11@E% 900 1,000
o) EE e I = 1134 1,300 1,500
AA 1134 2,860 3,200

FiksER (20 AU E) 28R IC 1E% x A% x0.9
NPT 2B D 130 150
0L S L I 2B5RIIC D 180 200
S AA 2B D 410 460
o INFAE BT 11E% 1,300 1,500
B I I o 11E% 1,800 2,000
KA 11E% 4,070 4,600
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B H b2 ==L i e =R i
e 2o 1ERIICD & 5,060 5,060
9~13F 4,400 4,400
- 13~178% 5,610 5,610
17~218% 7,040 7,040
P 44 1,760 1,760
9~13F 5,280 5,280
ABH L LA 13~178 6,500 6,500
17~218% 8,040 8,040
44 2,100 2,100
9~13F 3,000 3,000
. 13~178% 3,700 3,700
17~216F 4,400 4,400
44 1,100 1,100
HRZE BT IR = AHZR D200 A%
AGELH Y — R EFEK = AHZR D100 A%
FA IR = AGEO80AD
T B —m% 1RO 580 610
g4 1IERIIC D = 250 270
B HEER B —m% 1RO 1,470 1,550
g4 1IERIIC D = 660 700
S, XF BT O|BE- % [IBEIcoE 2,930 3,080
- D H S 1IERIIC D = 1,330 1,400
XF - B - —  |1EFRIC DO = 4,720 4,960
LLA S 1IERIIC D = 2,140 2,250
i B —m% 1RO 350 370
ek 1IEEIIC > E 150 160
P B - |IREICoE 230 250
s oy 1B & 100 110
e B - —  |1EFRIC DO = 460 490
g4 1IERIIC D = 200 210
BT v T — 50 50
B ﬁ:—;zﬂ & 495,000 519,750
&0 ERIICDO X 123,200 129,360
—AREFER [1BEREIC O F 44,000 46,200
SAHE 1RO 28,000 29,400
—— e 35 S N i e 61,600 64,680
1/2 47 — AR BFER 1EFMEIcD & 22,000 23,100
SAHE [1IEBRIcoE 14,000 14,700
BEsx  |IBEICOE 30,800 32,340
1/4547 —EEFER |[1ERIco & 11,000 11,550
SAHE [1IEBRIcoE 7,000 7,350
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5%UP
5 3 8 7 4
P4 1EB/MIco = 100 100
S %
ZDfth 1EB/Ico = 160 160
_ , P4 1B/MIco & 200 200
4 7L [IWNORR
Z Dt 1EB/RIco = 390 390
P4 1EB/MIc> = 100 100
Seagsn lla
ZDfth 1EB/RIco = 160 160
P4 1HIcD = 510 510
=5
ZDfth 1HICD = 510 510
Ax-h T4 18! = 780 780
= D
—REFIA =P8
ZDfth 1HICD= 1,720 1,720
P4 1HIcD= 510 510
=5
_ Z Dt 1HICD = 510 510
N7z T4 1HICD=E 780 780
=2 Z
=P8
ZDfth 1HICD= 1,720 1,720
P4 1HIcD= 510 510
. =5
27 b ZDith 1HICD & 510 510
A FE 1HIcD = 780 780
=P8
ZDfth 1HICD = 1,720 1,720
sk ARFEIIC D & 13,760 13,760
24 7L |/NAOF AREREIICD & 35,200 35,200
= F — -
KRR ARFEIIC D & 3,200 3,200
7L — IS k- 20,900 20,900
1% 40 45
oL —HHes
1t v k258 - 1,100
e AR 1SR (> = 60 60
et 1EB/RIco = 440 470
HE=E 1EB/Ico = 660 700
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H H BZ=X i T E
B ZEEFBR 1EFRICD = 9,030 9,030
9~130F 3,950 3,950
A 13~170F 5,070 5,070
R 4 1,570 1,570
9~13fF 4,740 4,740
ABRI L \ h
—MEFER | EB% 13~170F 5,870 5,870
Ege A 24 1,800 1,800
9~13hF 3,070 3,070
=S 13~178F 3,790 3,790
R 4 1,120 1,120
BB 2 BF BR BEASRNI00A% (R1%67,660M)
ABRSH V) — A EFIK BEEABRO0AS (1823,220M)
FABFER EBAEROL0AS (F1514,700M)
FE 18Ic> = 50 50
(EPNGD:E]
— % 18I ZE 110 110
=2k 1D 1,020 1,020
FIFaT A %m jE'EJ_ s
S — % 1D & 2,240 2,240
. |E&E 1EFRICD = 400 400
74—k
fE — i 1EFRICD = 890 890
2m 1R I D 6,740 6,740
72 F 27 LA = SEICOE
74 —=JLR 1EIco = 2,690 2,690
=y EBABROI0AS (R1E13,260M)
TIXTFaTAR=Y
AGELH V) —R% BEAERD20A% (F1%29,180/)
TF 2 T LA BEEABR D30NS (21587,650)
=S 310 310
% BHIIL 5
— % 670 670
AR e Hﬁk;ﬁ - —fix [1FFME 1EfEICcD = 570 600
g 185 1B/ = 250 270
27X (BE - —RK |1EH 1D & 1,470 1,550
| moAx |3s 1A 1RRIIC D & 660 700
RATHR—F —
o e - —A% | 185RS 1MEIco = 2,930 3,080
S
. 24 105 1MEIco = 1,330 1,400
BFERS -
5o B - —f% [16FRS 1E/Ic> = 220 240
EFIEE
g 185 1B/ = 100 110
Ao B - —f% [16FRS 1B/ = 220 240
ER
= ey 165RE 1SR > = 100 110
B Bz - — % |1 1EFRICD = 450 480
; ey 165RE 1SR > = 200 210




. ‘ 1#HA/Ico=E 330,000 346,500
B 1R = 80,300 84,320
= N , ,
SE AT : s
— R EFEK 1B & 27,500 28,880
FAFFER 1E/EICD&E 13,000 13,650
B FF IR 1B5FE - o = 53,600 56,280
. 2/354T — R EFEK 1EIco = 18,700 19,640
BEIS I . :
o FAFFER 1E/EICD&E 9,000 9,450
B 2= BF BK 1@EIco = 40,200 42,210
1/25 4T — R EFEK 1MEIco = 14,300 15,020
FAFFER 1E/EICO&E 7,000 7,350
BRZETEK 1E/EICD&E 26,800 28,140
1/324T — IR EFEK 1EIco = 9,900 10,400
BB 1B5FE - o = 5,000 5,250
M - —fi% 1D 220 240
BRREEE - . sl
=S 1EIC D& 100 110
o B - —fi% 1MEIco = 440 470
B b | Ape - —
- 2 IKAICo & 200 210
B —
s B - —fi% 1EIco = 340 360
BOX=E —
24 1MEIco = 150 160
Bk w7 — 100 100




